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17. (@36 (b) 2338
(c) 3205. (d) 2015
W (d)326=33+2+6-1=210
2338=32+3+ 83210
3205=23+2+5-0=310
015224 0+5-1=6

Thuuﬁr,mstdiffermtfmm the other

- 18, 4a)Sumflower il (b) Coconut i
{gPmol  (d)Sandalwoodoi
» g?umodoansdiﬁemxfmm

w (Q.Nos 19-20) Which one

@ the given responses would be a-

(3)24.13.5 (b)4,1,325

(©51234  (d)51342
¥ (a) Ascending order of the given words
_-»-»'g;_‘ as follows
- 8%.r AUnit, Tens, Hundred, Thousand, Lakh,
1. Lucknow 2. Utter Pradesh
ity 3. India 4. Warld
W12354 (b)41.235
(@51234 (51324
fﬂmorderofthegvenwords
©T sas follows,
Lucknow, Uttar Pradesh, India, Asia,

) (b) Question

g1 (c) Quality (d) Quit

2509 (d) The order of words according to the
dictionary is as follows

.. kay-anquckQum

+ S0, Quit will appear fourth in English

dictionaty.

H.W&bmesetdmswlm

KB —p -8 —A
Lo aame  mawa
7 (c)ABAB (d)A8'A'B
P ()AN'SEB’A/ AAB/B'BA=S ABAB
Dinotlou (Q.Nos. 23-26) Choose the
alfernative from the given ones,
will complete the series,

88 3.7.13.21.317.
(@3 (b)36
© 41 ()43

» (d)

La i iy
M 48 4

+10  #12
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4. FUGT, HSIR, JQKP, ?. RN
(2) KNLO (b) LNNM, = x=4yr
S oMM + (dLOMN Hence, Rajendra's age after 16 yr=x+ 16
» () . =20
+2 +2 + v 3
F2 oyt 22,7 29, meumglmaltmmg?sdﬁtge
=2 4.2 Q=2 word, which cannot ormed by
u § 0 using the letters of the given word.
G2 | 22 522 iy MORTGAGE
(a) AROMA (b) GEAR
e a N (c) ROAM 4{d) GRATE
P (a) The word AROMA cannat be formed
ACE, GIK, MOQ, ?. ¢ A
(a?:Sl’Jw (b)xvz using the given letcers.
(c) ABC (d) DFG 80. From the given alternatives select the
» () word, which can be formed by using
y the letters of the given word.
A. CE GIK MO RECOMMENDATION
$2 42 42 4242 42 4242 ¥2 4242 ggwyg‘mn
? (c) MEDICO
wasmm s GG,
(:)250 (d) 280 P (c) The word MEDICO can be formed
o using the given letters.
: 81. Hari is older than Chaman. Vijai is
30 ‘68 520 738 older than Satish. Mukesh is not as
old as Vijai but is older than Chaman.
+38 +62 +02 +128 +170 +218 Sanshunotaoldas(lnman Wheo
is the ?
+24 +30 +36 +42 +48 (a) Hari (b) Mukesh
(c) Charnan (d) Satish
. L L R ) W (d) According to given conditions,
27. Ina certain code *KINDLE is coded > Clins
as “ELDNIK" how is “EXOTIC® . Vigy > Satish
coded in that code? Vijay > Mukesh > Chaman
(a) EXOTLC (b) CXOTIE Chaman > Satish
(c) COXITE (d) CITOXE Using these conditions we can conclude
» that Satish is the youngest.
123456 654924 ¥ Findthesmmg mmber in the given
KINDLE—>ELD NIK 25,36 447, 555,669
\l | = 4 ]‘ I @25 )47 (0555 (d)6sd
' »
- 25 3% . 447 555 669
Similarly, L4 4 4 13
123456 654321 +111 +111 +1 +i1
EXOITC—>CITOXE 50, 555 is the wrong number in the given
. l L4 1 J series. _ .
83. If HIGH is written as 8978 then
DEAF=?
(@)1342 (b)1432
: (c)4516 (d)4615
B e ey oy M OAH | G H—>g978
be thrice his present age and Rajendra Simnilarly,
will be five times of his present age. D E A F——4516

. How old would Rajendra be after

16 yr? Directions (Q.Nos. 34-35) Select the
()30yr (b)2Syr (c)24yr (d)20yr

M (d) Suppose Rajendra's age=x yr 84 875
and 'sage 3 x+ 4 yr 07 S
Then, (x+4)+16=3(x+4) 971

= X+20=3x+12 (@2 @®5 ©1 (d25
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M (b) A 8+ 10=218+2=9
and74+7=>14+2=7

Similarly,
5+5=70+2=35
5. 95410
87609
126 817
@8 ()9 (@10 (@n

M (C)AS945=4+10=314=14

and8+7=6+9=315=15
Similarly, )
124 6=8+1=31=18-8=10

88. Arun walks to North for 30 m and
moves left and walks 40 m. He again
turns left and walks 30 m. He finally
turns left and walks 50 m. Now, how
farlAmnImmthestamngpomt'?
{a)50m (b)40m
(c)30m (d)10m

»

"N

S e
S

(v AD=8C)

D 50cm A

Thereqwmdd;smnc'eis
AE=DE-AD
AE=50-40=10m

87. Avinash travelled towards South for .

1km. He tumned and travelled
for one more km. He again turned
right and travelled 2 km. In which
¢mtwn is he from the starting

(a) South (b) West
(c) North-West  (b) North-East

» (o

The required direction is North-West.

88. IfA for Addition, M for Multiplication, *

following will be
(a) 4ASD3G6A M3
. (b}4ASM4LED 2A8
(cy4D2A 4GED2A 4
(d)4A3M2L4D M6
P (d) From option (d),
4AIM2L4D2M6
443X 2<4+2%6
10<12
39. Balushmseisw[)mawayﬂaglgmat

of Sam. Balu stays
South-West of Sam's house. Raju

- Directions

resides 600 m North-East of Balu's
hum'ﬂ:mwhemlstbepwhmof
Sam's house in relation to Raju's?
(a)North-East  (b) South-East _
(c) North-West  (d) South-West

» (d)
&

| g‘f/ y NE
g

Hence, Sam's house is in South-West
direction with respect to Raju's house.

40. Ramesh is the brother of 'Amit.
Sushmaislhesistu‘ofSaﬁ'_!h.Mis

(a) Father
(c) Son

(0

So, Ramesh is son of Sushma,
41. Select the correct combination of

mathmnaumlmmwhoe(')m
and to balance the given equation.

24*2%4*3
(a)=+x
(c)+=x
» (o
From option (c),y
A+2= A\XS
=12=12

42. Some equatms are solved on the
basis of cettain system. On the same
basis, find out the correct answer for
the unsolved equation.
3X5X7=15,2X4x6=12,4x7x9=?
(@)28 (b)21
fc)20 (d)s -

M (0) As 3+5+7=15

and 2+ 44+ 6=12
Similarly,

4474+9=20 .

{Q-Nos.
Statements are. given below followed by
two conclusions (T) and (TI). Ywmm
consider the statements to be true even if
they seem to ‘be at variance from
commonly known facts. You are to decide
which of giverr conclusions, if any, follow
from the given statements? Indicate your
answer.

(b) ++=
(d)=x+

4344) Two
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43, Statements Latha is a beautiful and
intelligent girl. She is very good.
M'I.MMMMW
intelligent.

II. Beauty and intdbgeme are the
essential factors of goodness
(a)Onchmdumnlfolbws

. (b) Only conclusion Il follows
(c) Both conclusions | and If follow
(d) Neither conclusion | nor I follows;

Conclusions
lx

ILx

44, Statements ALl writers are Jawyers.
All readers are lawyers,
(‘mdmiuu L Some lawyers are

11 Some readers are writers..

(a) Only conclusion | follows

{b) Only conclusion ll follows

(c) Both conclusions | and I follow
(d) Neither conclusion I nor |l ﬂalkm

» (a)

Conclusions
v ILx

45. Which answer figure will complete the
pattern in the question figure?
Question Figure :

WY,
— ,
W

Answer Figures

5|0 0|

@ O . (d)-

» (d) From the figure (d),

O-0-+-6-0
Now, the pattern of the question figure is
completed. !
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48. Which of the answer figure is exactly
the mirror‘image of the given figure,

whmﬂ:emm'm'uhddmtheline
i

* W (3) The mirmor image of the given figureis

B8

4"!. A word is represented by only one set
-, of numbers as given in any one of the
sets of numbers

‘matrix ] are numbered from 0 to 4 and
T of Matrix Il are numbered from 5
.- .809. A letter from these matrices can
b first by its row and
Jits column, eg, ‘A’ can be
' by 01, 12, B etc. and 'K’

ted by 57, 68, 85 etc.

" ganbe
 Mantity the set for the word EAST.

. In which year did Gandhi ji start
. Satyagraha Movement?
;. (@199, (b) 1927
‘(o) 1934 (d) 1942
» (a) Although Gandhifs first Satyagraha
Movement in India was Champaran
Satyagraha of 1917, but it remain fimited
to its' area. An overall wide India
Statyagraha leaded by Gandhi i ook
place in 1919 against Rowlart Act.
B2, An ecosystem cansists of
(a) producers,  consumers  and
decomposers in a particular area
(b) all the plants and animals of an area
(c)a living community and its
environment
(d) carnivorous and herbivorous of an
area
W (b) An ecosystem is 2 biological
environment consisting of all the fiving

organisms, biotic (producer, consurmer,

GET IT ON
Google Play

Matrix I 49. thhoneofthefoﬂmngdlamms
o R34 s 18 ]9 B‘;‘fﬂd"w'?“‘“d'ﬂ‘u";‘mmﬂ
olE[ARIWPP| BlsBlK[TIC .blhhhﬂan'l‘iw-
1T |WIPIAJE IR | .16 |B |CIT K|S
2(Alw[p[R]e] [7]T]s[c B[k OC)@O@)@
J|IPIRIEJAIW] [8|K|T|S|CIB :
M [RJE [WlP [A] -l9lcik[s s |T (a) (b) ) @ -
Select the correct answer using the ¥ (3) From option (a),
options given below,
(a)00127658  (b)32347668 Deer.‘_.O G'—Ribbit
(c)4120 77 59 (d) 24025576 L Tiger
M (a) From option (a),
00=>€ 80. Select the answer figure, in which the
12=3A * question figure is hidden/embedded.
76=5 Question Figure
S8=>T
48, A piece of is folded and cut as -
shown in the question figures. From
the givén answer figures, indicate how
1&mﬂmwhmopm;ﬂ? .
Question Figures . ”3“‘;’ 7 ?’(
' 4 7V -
D) a4’
: (a) () (© (@)
Answer Figures = W (d) From option (d),
(a) (b) () (d) 7/
» () : /
é_? - question figure is embedded.
. y
Part (B) General Awareness
poser) and abiotic components 56. Ethnic Maongoloids are found
(non living) in a particular area ?)Miagil'nqup -
, : ) Southern regy
O () outhCencaregon
4, - (c) North-Westemn region
gb)).m Graham Bell (d) North-Eastern region
C,
M (d) The people belonging to Mongoloid
{d) Yo tariow race are found in North-Exstem Scates of
M (b) Telephone was invented by Alexander India in Asom, Meghalya, Manipur etc.
Caakay el 09 Gt 10 W26 §7. When a vibrating tuning fork is
54. The crop mainly grown in hills is placed on a table,a loud sound is
" “(a)sweetcom (b) sweetjowar lw;m'l'!nsudmto
(c) sweet porato  (d) sweet pea };)"““r‘ tion
» () : (c) forced vibrations
55. Whoxseaﬂnda.slhe‘?mpbetomew (d) damped vibrations
M (c) The tendency of fur:e
(a)mwmsﬂm' ﬁi’m agjoining ?m@
(b) Sri Ramakrishna object into vibrational motion is referred to
(c) Raja Ram Mohan Roy s a forced vibration, Musical instrument
(d) Swami Vivekananda and other objects are set into wibration at
»© their natural when a person hits

the object which results into solind.
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58, An insect - catching p

(a) Australian Acacia
(b) Smilax :
(c) Nepenthes
(d) Nerium

+ W (c) Nepenthes popularly known as
tropical pitcher plants or monkey cupsis
a specie of camivorous plants, found
mainly in tropical countries (Indonesia,
Malaysia, Madagascar), which can catch
mice and insects.

B8, 'Ihemﬂmdmtmedasaﬁmloql' ical
control is

(a) use of predators of a pest
(b) pheromone traps

(¢) use of pesticides

(d) use of neem extracts

M (a) Biological control ie, biological
method of controlling the pests (insects,

lant is

mice, weeds etc) in agrculure

include—use of predators of a pest,
phermone  traps  (insect  trapping
. method) and pesticides.
60. The States in India are demanding
mhrauimmyhumthemtmm

(a) ies:shm (b) administrative
(c) financial (d) Al of these
» (d)
61, Light houses are places with powerful
lights to
(a) guide and resolve traffic jams in
cmd!d metro-cities during

nights
(b) guide and help large crowds at
religious gatherings during nights
(c) indicate to the incoming war-ships,
© the locauon of a harbour during

night
(d) guide and warn rheshxps commg
from differenc directions in the
ocean
M {c) A lighthouse is a tower, building or
othér type of structure designed to emit
light from a system of lamps and lenses
to aid help in navigation, to find location
of. harbours and othetdmgmduring
night
* 82. In a Capitalistic Economy, the Prices
are determined by
(a) demand and supply
(b) government authorities
(c) buyers in the market
(d)sellersind'.emarkgt

P (2) Capltalist Economy Ap economic
system based on private ownership of
capital. In such an economy there is no
control of governient. on  market
policies. The means of production are
privately owned and operated for profic
The price of goods in such economy are
determined by demand and supply.

Iighwd\edehwﬂhd\erﬁrprmmd
vice versa.

83, Whndiheﬁﬂowinghasmhawan

interlocutor on Jammu and Kashmir?
(a) MM Ansani _

(b) Radha Kumar

(c) Shujaat Bukhari

(d) Dilip Padgaorikar

P’ (c) The government of ) & K appointed a

3 member interlocutor team to solve the
problem of Kashmir. Its members are M
M  Ansari (Academician), Dileep
Padgaonkar (Journalist) and Radha
Kumar (Academician).

1

64. The Zone of Earth's

atmosphere
above its surface up to a
height of about 16 kms above equator
and § kms over the poles is known as
(a) Mesosphere  (b) Thermosphere
(c) Troposphere - (d) Stratosphere
M (c) Troposphere is the lowermost layer of
atmosphere above the Earth surface,
followed by stratosphere at an average
height of 50 kms from the Earth surface,
above it mesosphere at an average height
of 85 kms and above it lies the thermo-
sphere at on Average height of between
320-380 kms from the Earth surface.
85. The term ‘Pitcher’ is associated with
(a) Wrestling (b) Boxing
(c) Baseball (d) Basketball

» @)

68. The filament of electric bulb is made

up of
(a) copper (b) nichrome
(c) lead (d) tungsten
PP (d) The filament of electric bulb is made

from the element tungsten, as tungsten s

found best begause of its high melting
point (almost 3700 K) and good
resistance 5Wc current.

67. Which of ‘the following is called

“brown paper™?
(a) Jute (b) Cotron
(c) Rubber (d) Tea

M () Jute is called the brown paper of
wholesale trade’. Since it is used for one
package of many commodities such as
cotron, rice, wool, wheat etc.

68. A Secular State is one which
() has no religion of its own
(b) is irreligious
(c) is anti-religion ’
(d) takes into consideration the
religious sentiments of the people

PP (a) A Secular State is one which has no
religion of its own ie, the state which
does not recognize any particular religion
but give equal protection to all. For
eg.—India is a Secular State.

80, ‘What does Jahangir mean?
(a) National Monarch :
(b) The Grand Monarch

GET IT ON
Google Play

(c) Conqueror of the World
(d) Hero of Hundred Batcles
70. Gol Gumbaz is in

(a) Konark (b) Hyderabad
(c) Puri (d) Bijapur

M (d) Gol Gumbaz is the tomb of Mohd
- Adil Shah situated in Bijapur in the State
of Kamnataka

7L The early Buddhist Scriptures were

composed in
(a) Prakrit texts
(b) Pali texts
(<) Sanskrit texts
(d) Picrographical texts
M (b) The most common language used In

Buddhist Scriptures was Pali. Buddha
gave his maximum sermon in Pali
language.

72. In Mohanjodaro, the largest building

E] the great bath

(b) 2 granary

(c) the Pillared Hall

(d) a two storeyed house

» @)

78. Where was the Royal Durbar held on °

Navunba-lstlmtamh

Queen's
(a) Lucknow (b)‘C:wnpote
(c) Dehi (d) Allahabad
M (d) After the Revolt of 1857 the British
Parfiament trinsferred the power of East
India Coripainy to the crown by the
goverrimerit of India Act 1858, Ivorder to
infumuhdhnrdnwmw
British Queen issued. a-
which was read at Royal Durbar heidat
Allahabad on November 1, 1858.
74. Male (Anopheles) mosquito feeds on
(a) blood of man  (b) nectar of flower
(c) blood of Culex (d) blood of leech
» ()

75. Tooﬂlpmnapmdudsoldmdn‘
(a)mompoﬁsnccqupmum B

P (a) Monopolistic competition Itisa
type of imperfect competition such that
competing producers sell products that
mdrfferentﬁmmanoth«asw
but not perfect substicutes ie., evéy
producer tries to keep his product
dissimilar than his rival's product in order
to maintain his separate identity.

76, The National Development Council

includes

(a) all Central Cabinet Ministers

(b) Chief Ministers of alf the States

(c) Cabinet Ministers of all the States
and the Centre

(d) Members of the Estimates
Committee of the Parliament
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) calcium sificate and calcium ferrate
¢) alcium aluminate and calcium
ferrate
(d)4ime stone and sificon dioxide
M (a) Cement is made up mostly of
caldum siicate (50-70%) and Calcium
Aluminate (15%-5%).
80. Which of the following is not a
(a) Processor chip  (b) Printer
(c) Mouse (d)Java

P (d) Java is 2 programming language in
‘computers rest others are hardware.

81. S;:mbmcddtnbthedddmcy :

. () Viamia-D. * (b) Vicamin - K
(c) Viramin-€ * (d) Vitamin - C

L AC)

M (c) Among the healtiest fruit for human
body guava tops the list of 14 fresh fruits
commonly consymed in India, followed

by Indian plum. Mango, pomegranate,

custurd apple are among the other fruits
« that offer highest ‘amount of

antioxidants, while the pineapple is at the
83. The Parliament can legislate on

subjects given in the Union List only

in consultation with the State

Government for the State of

(a) Asom

(b) Rajasthan

(c) Jammu and Kashmir

(d) Kerala

M () Union List of India is mentioned
under VIl schedule of Indian
Constitution and  contains 100
subjects. Parliament has the exclusive
power to legislate on the subjects given
under Union List"but any legislation
effecting ) &K would only be passed after
in, consultation with the - State

of | & K because under
Article 370 of Indian Constitution | & K is
given special status. |

84. Tsunamis are waves generated by

(a) earthquakes beneach the Sea
(b) moon's pull
(c) high udes of the Oceans
(d) cyclones

M (a) Tsunami is a japanese word which are
a series of very very high water waves

.A auszddmmm_vdmic

eruption beneath the sea.

85, Which is the largest State of India?
(a) Madhya Pradesh
(b) Andhra Pradesh *
(c) Rajasghan
(d) Matiarashtra _

M () Raischan is the biggest State of India
in terms of area followed by Madhya
Pradesh, Maharashtra . and  Andhra
Pradesh. Goa s the smallest State of India

86. Which one of the following is a system
software?

M (b) A word processor is a computer
application software used for the

production of any sort of printable
material

87. A piece of wood is held under water.
The upthrust on it will be
(a) equal to the weight of the wood
(b) fess than weight of the wood
(c) more than weight of the wood
(d)zero

M (a3) Upthrust When an object is
dropped into the water, it sinks down of
float, it depends upon its upthrust

M (b) Kamakhya Temple is a Shakti Peeth
Temple situgted on the Nilachal hill in
Western part of Guwahat, Asom.

89, Electric buibs are filled with
() nitrogen
(c)argon . (d) oxygen

M (c) Electric bulbs are filled with an inert
gas Argon because it resists the filament

tendency to bum up.

(a) Ozone
(c) Oxygen
M (d) Green House effect is the heating up
of Earth's aumosphere. It is the
phenomenon in which incoming solar
radiation are absorbed the atmosphere
-but outgoing terrestrial radiation are
unable to pass. Thus the trapping of heat
again and again results in highes
Earth’s atmosphere. The

91. Wisdom teeth is the
" (a) 1st molar teeth (b) 2nd molar teech
(€) 3¢d molar teeth (d) 4ch molar teeth

P (c) There are four type of teech in an
adult human : Incisors (4% 2), canines
(1x 4} premolars (2x4) and molars
(3% 4). Molars are food grinding teeth
placed far back in the mouth. Wisdom
teeth or 3rd molars are the last ones (0
erupt about at the age of 20.

92, Who of the following Pairs of Nobel
Laureates in ics was awarded
2010 Nabel Prize? .
(a) John C Mather, George F Smoot
(b) Albert Fert, Peter Grunberg
(c) David | Gross, Frank Wilczek
(d) Andre Geim, Konstantin Novoselov

» (d)TheNoderiminAmcmww
Awarded jointly 0 Geim and
Konstantin of Russia ‘“for &ound
dimensional material graphene."

93, “Tabal Chongli' is a form of folk dance
- associated with the State of
(a) Paschim Bengal (b) Asom
() Andhra Pradesh (d) Maharashtra

» ()

GET IT ON
Google Play

(b) carbon dioxide
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84. Who is the supreme Commander-in-
Chief of armed forces of the coumtry?
(a) Defence Minister ~~
(b) Prime Minister
(c) Senior-most among the  three

service chiefs
(d) President
» () :

88. Which of the following is correctly
matched? :
(a) Asom : ltamagar
(b) Arunachal Pradesh : Guwahati
(c) Tripura : Agartala
(d) Nagaland : Shillong

~ M (c) Only option (c) is correctly matched

Agartala is the Capital of Tripura.

itanagar
Guwahati

96. The purest form of Iron is °
(a)Castion (b) Seeel
(c) Pigiron (d) Wrought iron

101, Ratio of the principal and the amount
after 1 yris 10 :12. Then the rate of
interest per dnnum is
‘(a) 12%- (b) 16%

(c) 18% (d) 20%

M (d) Let Principle amount is ¥ P, amount
after 1yris €A and simple interest is §/
‘We know that A=§/+P

I
A 12
(Gven) ~ A=1Z
. 10
s E=lexr+P
= 0 100
= E=P[i~+1)
10 00 J-
L $I%.
5 100
E—'l--.--r—-
5 100
LI
5 100
r=20%

162, A solid cone of height 9 em with
diameter of its base 18 cm is cut out
ﬁ’omawnodmmhdsphmufradm
QmT‘hepmtaged!oodwasted
(a)ZS (b)30 (€30 (&7

W (d) Wrougtit iron ks the purest form of
iren with a very low carbon content
(0.10% - 025%),and less than 025% of
impurities. )

O'I._geCaateSystundmdiammmd

- (a) immobility of labour
(b) recagnition of the dignity of labour
() economic uplife
(d) occupational divisiors of labour

M (d) The Caste System in India was
introduced during Rig Vedic times, it

divided the Hindu society into four .

Vamas (Castes) and each Vama is
artached with a fixed occupation. These
four Varnas were

2:Kst\atriya"
-3 Vaishyas |car herdery

4. Shudras

Part (C) Quanmme Aptﬁlde

» ()

Percenageofwoodwastage

_ =S0%+ 25% £75% .

108, The thedmrdd circleis 8

W a
mmthmﬂm
Thmﬂ:emﬁnsdthedldenmal

(a)4cm (b)Sem

(c)6cm (d)8em

» () ;

Lettheradmsofordeisrm

(os)’ (0CF + (65!
[Pythagorous Theorem]
A=t +(4f
=9+16
=25

GET IT ON
Google Play

88, The iron ore which contains 72% of

iron is
(a) Magnetice  (b) Limonite
(c) Haematite (d} Siderite
M () There are mainly four types of iron
ore. They are

@ Mianﬂit! (F&;0,) — contains 72%

(ll) Hemaute (Fe;0,)— contains 70%
iron

(iif) imonite (Fe,0; + H,0}—containg
50-66% iron
(iv) Siderite (FeCO, }—contains 48% iron
99. Surat is located on the banks of the
by
(aﬁamada (b) Sharavathi
(c) Mahi (d) Tapti
» (d) Surat is located-on the river bank of
Tapti in Gujarac. |
100. The tusk of elephant is an zmmnly
enlarged
(a) upper incisor
(c) lower canine
» ()

(b) upper canine
(d) lower incisor

o el
© v aSemls
104 mmmcm-mm
mmmomnc:a
@6° (b)3° ()45 (d)1s°
» () A

A
hypotenqse

B
Here, BAC=9%0°,
=xand perpem:ﬁ«:ular=-2J£

sinﬁ:L-_—l -
2xx 2

5 0=30°

© 108. 'Iheava-ageowmxmbmlsuo.lf

one number i is excluded, the 2 average

4 numbers is 130.
The excluded number is
() 135 (b) 134
(c)180 (d) 150

P (c) Sum of S numbers =5x 140 =700
Sum of rest 4 numbers = 4x 130 =520
. The excluded numbers .

: =700-520=180
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108, Iftuyurehwghm!smd:andapld

at 4,50 each, then the loss is

@10% ()% ()12% (d)13%

W (2) Cost price of toys=5x

and Seling price = 45x

Loss =S~ 45x=05¢

- % loss = % 100

" &

=10%

is the greatest number which
divide 110 and 128 leaving a
“péinainder 2 in each case?
“(a)8 (b)18
)28 (d)38

107.

: » 9 (b) Required pumber = HCF of (110-2)

and(128-2)= 108,126
108) 126 (1
108
18)108(6
108
*®
=18 .
108, Ifa=23 andb=-29, then the value
onSa’-i-mﬂﬁzbgiis
{a)1 i(b)-1
@ A{d)2
W (2) 254" + 40ab+ 16 1
=(5a+ 4bf
=[(5% 23+ 4x(-29)f
=115+ (-116)
=(-I):=1 '

109. 1 @)@2) = 8 and (¥ ) = 81, then

xy)is
@2’ (b}(2.7)
@) (@2
W @@ =2
L ox+y=3 i)
@)=8 ‘
£10)=0"
© o ys4 ()}
Solving the Egs. (i) and (i),
x=ly=1
(xy)=012

110. One chord of a circle is known to be

- 10.1 em. The radius of this circle must
be
(a)5cm
(b) greater than 5 cm
(c) greater than or equal to 5 cm
(d) less than 5cm

L)

. AB (chord) =101 cm. and Longest

chord = Diagonal

(D:=Longest chord = 2x radius > chord
=2x5> chord

..Themdmsofmsmdemwbeyeaw ‘

than 5cm,

Both the end digits of a 99 digit

pumber N are 2. N is divisible by 11,

then all the middle digits are

(a)1,

Q)3
» ()

112, un<x<_§mm=mecy;mm

the value of sin (x+ y) is
@0 {b)1

111

14+ tantx= 1 cor'y
© @nx=coty
cosx  siny
sinx. siny = cosx. cosy =0
cos(x+y)=ous-’25

n
Xty=—
y 2 1

5osin(x4y)= Hn(g]
=1

113, Amdwmdmtoymmﬂmhapeda
right circular cone mounted on 3
hemisphere. If the radius of the

r hm:sphmwwmandﬂwtotal
height of the tay is 10.2 cm, find the .

5,; whnmdthewoodmwycfrnfﬂﬂ

(a) 104 o
(c) 427 em®

» (4

(b)162
(d) 266 cm?

Height of cone = AD = )

=102-42
[+0D=0C= r]
=6cm
Radius =42¢cm
. Volume of wooden toy
=Intn+ 2nd
3 3

=§xxx:’x6+§xnx_?

zxxf 641
szzxntzxu B+42)
Ix7
_ 4x72x1764
n
. =44x72% 084
"= 2661122 266 cm?

114, Acandoapieceof workin 12days. B
is 50% more efficient than A, In how

(b) 8 days
. (d) 24 days

(a) 6.days
" () 12days

M (b) “Acandoa piece of work in 12 days
© and B is 50% more efficient

1i6. Each interior angle of a regular
is three times its exterior
angle, then the number of sides of the
regular

(a)9

(010

116. Sdhnganamclealapmﬁtof 5%, Mr

X gets ¥ 150 more than selling it at a
lossuf&% Mr X purchased the article

(alﬁs,tm {b) T 1500
(@150 {15
P (bjLet the cost price of an article= 100
Then difference’
=105-95=T10
I ifference of €10, then ' gets ¥ 150
more, than selling price
‘ if difference of ¥ 100, then purchased
theartcleat =150X100
10
=T1500

117. The ratio of the radii of two circles is
1: 2, then the ratio of their areas is
(a)1:2 ()21
(c)1:4 (d)4:5

GET IT ON
Google Play
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» (c)Themwadnuo-

. =14

118. The trie discount on a sum of money
dmmhrhmeuts%htw Find

(a) 150 (b) 165
(¢)170 (d) 160
M (b) True discount = ART
100+ RT
(HereR=5%T = 2 Let amount is A)
15= AX5x2
100+5%2
2A

3=

110
A=330
A=165

(b) 122kg
(d)2421g
»©) Total weight without boat =38x 5
:mh
Toral weight with bose =526
=312kg
Walgh o the bosc =612~ 19) g
=12kg

The the expression
x.‘~17£+17i-17x+17 #x=18is
)0 (OB
2 - 4d)3

B ()6, vm(x-vs)-qm(x-w)
is a factor.of given expression
S A= -1 17

e

R=F+x=1
-2+
¥R 1168
: A=
e 3T
T-x+17
Fxt16

» (b)mmqutadhad\tbeh
#h--w’

anxuxh --xExsxsxs
7 3

h=2cm
198, Kx-1a5 then?s Lis
‘X

@S ®B O
»(c)(x- ):5.}»7-1

( 7.3)1=:?+7-2

% i+_'-(x-j)z+2 :

@z

2 X
:(9’4'2 ¥
=25+2
=27

138, I:‘adwdeolmemmmaxww
. Find jts area,

6
@%3gem  (b)é6Bsqem
(C)ﬁﬁsqcm - [@8Bsqem

» (@) A -16‘-)((:&)"
B

="x3%
14, 1 sin17° =X nm the- value of
aecl?'-sn?S'

(.,ﬂ B2
‘y

f -{

(c) (d)
Jy‘ ¥ Q

W (@sni7e=d, nc17‘-m73°=’

1
—-—-sin73’--—-—-- 0-17°
o517 cos17° = G

Gaya (in kms) is
(2)1398. (b)ms (c) 1388 (d) 1268
W (b) 5% of 1440=72km

GET IT ON
Google Play

tani°tan 2%an 3°........ tan 88°is
(a)1 b)o
©+8 (u)j;

W (a)anah2°.. ungs®

=anw@n2°...tan45°... tan 88° ran 89°
=tanPran2®...tan44° an 45°
. ...tan(90~
..... @an(90-2°)@an(90-1)
=@nfan?®.... :an«°un45°mtu°
. -..cot2° cot P
1

=@nPan2®...tan44° an 45°x
. tan44°®

1 1
X o—
@n2® @n?
=1-1..1- ands®

127, Olﬁ‘isequnlho

(c) E

» (b)(l123 L
99

188, ABCD is panﬂebmm'!'he
LBIsequa:ﬂcydsc o

(a)30°
(d)%0°

(c)45°
» (d)
w0 A\

80° 80"
B I

* AB|CDand AD{{BC
" WABCD s a square, therefore, £B = 90°

)

md:,x!hehzvdsﬁ()kmbymand
rest by car. He will take 10 minutes
more if he were to travel 100 lan by
lmnmdmthyw The speed of the

train is
(b) 60 km/h

(a) S0 km/h
(c)100km/h  / (d)120km/h .

» (b) Let speed of train and car is s,and s,

—t—={ )

Now, — +—=4—- i)
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1005, + 2005, _ 25
55 6
10’3,1-2(!3, 25
T

585)

=5 600s, + 12005, =375, + 15005,

= 25 =300, '

o5 4

= i 3 209
5 3

5‘=§.

4

Putting the value of sin Eq, (1)
= E+3---=4
B 5
4
240 240

== (putong the value of

= —_—t =4

¥ 5
m=4
3
s,=3%0=sﬂkmfh

s,_”‘T"’nmmm

The angles of elevation of the top of a
tower from two points A and B lying
on the horizontal through the foot of
the tower are 15°and 30°.

1f A and B are on the same side of the
tower and AB =48 m, then the height
of the is

(a) (b)2ém

(d)9%6m

© 24J- im

b

ol _ "
G B x b
‘ \5 1
an1st=—2_
48+ x 3 1 48+x

&n

x

75'_: Bx 8+ b
= 164+ 3¢~ 4843 - B = Ax+ x
= 44— 483 = 2Bv- 2
x=144-4s\5
-1
88 (-1)
- ,2(3—1)

"
2B=(Dh
D=2
181, fA:Bis2:3,B:Cis6:11,thenA:
B:Cis
(a)2:3:M (b)4:6:22
()4:6:Mm (d)2:6:11
W (c) AB=123
B‘C.__ﬁ-.ﬂ
AB:C=12:18:33
=4:6:1

132. The allowances of an
constitute 165% of his basic pay. If he
reciives ¥ 11925 as gross salary, then
his basic pay is (in %)

(a) 4000 (b) 5000
{c) 4500 (d) 5500

PP (c) Let the basic pay be T x.
(x+ ""_’65)=11925
100

(H- E] 11925
100

ﬂnmmw
' 265
=450
188. A cistern is normally filled in 8 h but
takes another 2 h longer to fill because
of a leak in its bbttom. If the cistern is
- fll e ek il ety t
() 6h (b)20h
(c)25h (d)40h
M (d) The filing tap takes 2 h more,

therefore the leak empties in 1 mhwhd\
flling tap fills in 8 h,

Saﬁ!leakempdesmwh=§ ie.

; 1
=~ tank
; 4

\.‘ Hence, the full tank is emptied by leak
! =10x4=40 h

154, The product of two numbers is 36 and
their sum is 13, The positive
difference between the two numbers is
(a)1 (b)3

* (c)5 ©o(d)9
M (c) Let the numbers are x and (13 = %
x(13-%=36
= 1x-4=%
= ¥ -1+36=0

bt :'“}s(i Dharacharyl

=-(—13)1,ﬁ—13;’ - 4x(1)x36

2
_ Bt 169144

2
_134V5
2

GET IT ON

Google Play

'_13+S

2

Now, u—d

2
Positive difference =9~ 4=5

136, Two equal circles of radius 4 cm
intersect each other such that each

(b)45cm
(d)8cm

@28 an
(<) Zﬁ m

» ()

v AB=dcm -

Hence, AC=8C=AB

Therefore, ABC is an equilateral triangle
s D=2x(E

'CE=%xside
B

---x4*-2v§

5 D= zxz-.E 445

138, me[ummmmofasmnnahaetu{
" side 4 cm, four pieces, eath in the
shape of arc of a circle with radius
2cm, are cut out. The area of the

remaining portion is
(a)(8-m)sgem  (b)(16—4m)sqem
(c)(16-8r)sqem (d)(4—2x}sqcm

o p— <

Required Area = Area of square- Area of

dm o«
=(4 -n(2f =16-én

187. I A, B and C be the angles of a
triangle, then which of the following

(d) cot—— = @n—

M (c):A+B+C=nx
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Therefore option (c) is wrong,
138. Iftwgthgxdanism-ﬁﬁth,mm
A:B=

@)5:6 (b)6:5 .
{c)10:9 (d)9:10
» (b)axZ=pxt

3 s

é:j)(g'E:ﬁ:S

B 525
139. The lines 2x+ y=5 and x+2y=4

intersect at the point
(@) (n2) (b)(21)
© (572,01 (d)(0.2)
M. (b) The required points are xand y,
A y=5 ‘
24 y=5=0 -0
X+ Yy=4
X+ y-4=0 ii)
By solving Egs. (i) and (ii)
x=2y=1

xp=(21)

140. If x=3+22, then the value of

Y
(&%) N
()1 2
O3 @36

W (5) B+ 2V2 = el
;L:Ji

1
e

24011
42

=z(1+ﬁ)=2

‘(1+72) .

141 Two successive discounts of 5%, 10%
are given for an article costing ¥ 850.
Present cost of the article is (in 7)
@75 (b) 72675
() 700 (d)650

P (b) Snge discounc

={1m_(1m-5)(1w710))%
100 :

= (Iw—?.s_xﬂ
100
=145%
Now, Present cost of article

Directions  (QNos.  142-145) A
motorist and a scooterist made a journey of
120 km at the same time and from the
same place. The graph shows the progress
of the journey made by each person, Study
the graph and answer the questions,

10—
T2

40 M_

900 9:30 10:00 10:30 11:00 11:30 -
am am am am am am °

Time —

142. How far, from the start, did the
motorist, meet the scooterist? (in km)
(a) 75 (b)70
(c)%0 (d)so

PP (d) By Graph, the required distance
: =‘mkrn
143, What was the speed of the scooterist
?L;l;il;ﬂlbe ? (in kmv/hr)
a

(b) 48
‘()42 (d) 46

P (<) The scooterist compleces his joumney
in2-h.
2 .
145. At what time did the motorist meet
the scooterist?

(b) 1045 am
(d) 1020am

(a) 1030am
{c)10.15am

GET IT ON
Google Play

» (a) At 1030 the motorist meet the
scooterist.
Directions (Q.Nos. 146-150) Read the
bér graph given below and answer the
questions.

148. Which of the above States is the
largest producer of rice?
(a) Uttar Pardesh  (b) Paschim Banga
(c)l\f\adhyanrdesh(d)mmha
P (b) Paschim Benga (8 Lac tonnes)
147. Which of the above States is the
largest producer of wheat?
(2) Madhya Pardesh (b) Haryana
(c) Maharashtra  (d) Urtar Pradesh
P (d) Uttar Pradesh (16 lac tonnes)

Total " Production of rice in all states
. =(247+ 8+ 4+3)=24 Lac Tonnes

Therefore, required part =2 =
' 24 12

149. Which of the above States is least
producer of wheat?
(a) Maharashtra  (b) Paschim Banga
(c) Madhya Pardesh (d) Haryana
P (b) The state which have least produicer
of wheat is Paschim Benga,
150. In which of the above States, the total
production of rice and wheat is the
v least?
(a) Paschim Banga (b)M P
(c) Maharashtra  (d) Haryana
PP (c) The state which have least production
of rice and wheat is Maharashtra.

¥, ?
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Directions (QNos. 151-155). In these
questions, some part of the sentences have
errors and some have none. Find out which
part of a sentence has an error.
'1'“ Iwam't/atth:laatmeeﬁngand/
(a) - by
neither was you /No €ror
(c)“ (d
W (c) ‘ere" .
: from one another ,No error
152, —— f -
. © (d
M (g) 'each othet’ e
168, He remembered Ithat his visa ,
(a) B )
wmbeexpimdmamanm,mmﬁ
3 o (d)
C W (c) wil expire’ ‘
184, When | shall see him /@
@ . (b)
/tzllhml / 0 error
() (@
M (a) 'delete shall
185, In any case no disciplinary acﬁon/

(@)
are requited /to be taken /No €rror
®) o (d
(b))
Directions (Q.Nos. 156-160). In these
questions sentences are given below with
‘ Banks to be filled in with an appropriate
word(s). Four altenatives are suggested
for each question. Choose the correct
alternative out of the four.
158, That hardly counts, :
(a) does k2 (b) doesn't it?
(c)doit? (d) dontit?
» @)
157, Therearen't ____ mountainsin that
of the country. .
a) muctt (8) many
(more - {d)les
Wi 0 T

188 Ancpi i bl el

with the world. e
(a) shall (b)will be (©)is  (d)was
» ()
169. Only people who are afraid to sign
~ their ngmes, send____ Jetters.
(b) anonymous
(d) informal

(a) unanimous
(c) official

Weo |
160. The exanination will begin
(a)fom (b)in  {c)at  (d)ons

»aE o . -

Part (D) English Language
Directions (Q.Nos. 161-165) Outof the
four alternatives, choose the one which best
expresses the meaning of the given word..
161. Novice 2

(a) Beginner {b) Virtuous
{c) Trainer (d) Learner
M)
163, Adversary .
(a) Poverty (b) Contestant
(c)Opponent  (d) Antagonistic
. P :
"IIB. Dishonour
. (a) Infamy (b} Glory
(c) Uncouth (d) Wicked
» @)
184. Erudite '
(a) Scholarty (b) Friendly
. [c) Miserly (d) Lovely
» @)
165. Idea
(a) Comprehension (b) Notion
(c) Emotion (d) Gist
» (b)

Directions (Q.Nos. 166-170) Chovse
the word opposite in meaning to the given
word,

166. Obvious.
(a) Simple (b) Clear
(c) Difficule [d) Vague
» ()
167. Implicit
" (a) Explicit (b) Implied
* () Explained (d) Exquisice
P @) ! |
168. Captare '
(a) Citch {b) Detain
(c)Liberate ~(d)Stop
2]
(2 Auractive  (b) Offensive
" (c)Defensive. *, {d) Pensive
W) - :
170, Misery
T ) somy (b) Careless -
(e)loy - (d) Content
» ()

Directiotis ,j@.ptgi;‘.‘;rz_i:’iis_) Fmt;

altematives * ‘are ;| given  for
idiom/phrase. - Choose the, ‘gHemative

which best expresses' the feaning of the
idiony/phrase. .
171. To play havoe with -
() To ruin (b) Toalter
() Toswallow  (d) Toaffect
» @)

GET IT ON
Google Play

172. Herculean task :
(2) An easy puzzle (b) A good contest
(¢) Adifficult thing {d) A hurried job
» (0

178. A red letter day
() An unimportant day
(b) A festival occasion
{c) Animportant day
" (d) An insignificant occasion

» (0

174. A bone of contention
(a) A matter of dispute
(b) A settled quarrel
(c) Food for thought
(d) Competition
» @)
175. To give currency
(a) To male publicly known
(b) To misinterpret
(€) To bestow importance
(d) To originate.
L 0]
Directions (Q.Nos. 176-180) A part of
the sentence is underlined. Below are given
alternatives to the underlined part at (a),
(b) and (¢) which may improve the
sentence. Choose the correct altemnatives.
In case no improvement is needed your

answer is (d).
176. He throwed it out the window.
(a) threw
(b) throw
. {¢) thrown
{d) No improvement
» (3 ;
_177. In the hot afternoon, aftec a long
g:l&k, I rested under the shadow of a
(a) shieter )
(b) shade
(c) ool
(d) No improvement
AL .
178, Your answer book will be answered
with the help of a computer. ~ *
() judged (b) tested
(c) evaluated (d) seen
LA
179. Marconi assembled the radio.
(a) discovered
(b) made
{c) invented
(d) No improvement
L A G : ,
180, He showed great kind to his friend.
{a) kindness {b) kind heart
(c}kind hearted  (d) no improvement

» _{a)
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Dlreehom(QNm 181-185) Outofthe :
four alternatives, chonse the oné

wmcﬁwnbewbsuauedﬁ)rﬂwgvm
words/Sentence. - % s

181,  Abilty to go on inspite of dificultes

(2) Defiioys ~ (b) Desirous
(¢) Perseverance ~ (d) Pervasive
LG -
182. The number of ships, vehicles ec.
. traveling together under escort
(a)Retinue (b Flee
(c)Posse (d) Convoy
» ()

188. An instrument for measuring wind

pressure,

(a) Manometer  (b) Micrometer
 {c) Temperature ~ (d) Barometer
» ()

184. To destroy completely, '
(a) Annihilate  (b) Rehabilicate -
(Oncpacate () Dsoate

» @)

185. Tomemwmmmyothﬂhmﬂd
because one is unable to breathe
~ (a)Skin (b) Drown
(c)Flounder  (d) Founder -

LAOI
Directions (Q.Nos. 186-190) Gmm
of four words are given, n each group, one
words is correctly spelt. Find the correctly
spelf word. :
186, (3) Emampaﬁon (b) Emancipasion
(c) Emandipation  (d) Emansipation ,
» ) '

- 180 (a)lreversile

. can doa arge amout of work [ other 17 (2) happily

(<) thoroughly -

187, (2) Prejucice [0 Prjudie
(c)PrecﬁudJéé fd}ﬁﬂ“dis
»@E ,’i '
188, (a)Suw
(c) Surgen
L IO
189, (a) Potatos
(c) Potatose
» )

Osion.
(d) Surjun-

(b) Potatoes

sbe () ineversble
- (Gimewisbe  {d) imavarsible
» (b)
Directions (Q. Nos. 191-200) Someaf
memﬂshavebeenlammfhsftmdﬂm

pamgemandﬁywmdﬂmudmlt-
- 15 about. Then fill in the blanks with the
+help of the alternatives given. The great

 advantageofearly risingsthe good 191, it

gives us in our day's work. The early riser
men get out of bed. In the early morning

the mindis e, and tere are e sounds,

or other 198, so that work done at that
time is generally 184, In many cases the
early riser also finds time to 196, some
exaﬁsemthefrahmmﬂgair.andﬁﬂs
that will last 196 the evening |

beginning so early, he knows that he has

plenty of time to do 197 or the work he can
'be 198 to do, and is not tempted to 199
. over any part of it A]lhlsworkbelns _

finished in good time, he has a long 08 of

_ restmﬂleevmmghefomﬂlehmdyhom B
. whenhegoestobed. -

 (d)Noneof these -

191, (a)kick
(c)rise
»@
192, (a)after
(<) while

LAUNS

198, (3) distractons -

" (¢) passions

» ) ,
184. (2) quickly done
(c) smartlydone

» (b)
186. (2) perform
()do

»

196, (a)for

(c) by

» )

» ()
198, (a)paid
(6)forced
»o
199, @nn
{cywony
» )
200. (a)epoch
(¢} moment
o 20

GET IT ON
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() hab

(dsan

(b) before |
(d)as

(b) artractions
(d) contraptions

(b) well done -
(d) secretly done

(b)ac
(d) undergo

(b) unl |
(din _

(b) lefsurely
(d) slowy

'(b)‘deemed

(d) expected

(b) hurry

@por
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